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Question Number : 1 Question Id : 3228773855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

All of the following are long bones — EXCEPT:
Options:

1 ® Femur



- % Humerus
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Question Number : 1 Question Id : 3228773855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 2 Question Id : 3228773856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The pacemaker of the heart is:

Options:

1 « SA node

> % AV node

= % Bundle of His

4 % Purkinje fibers

Question Number : 2 Question Id : 3228773856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 3 Question Id : 3228773857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The endocrine gland present in the base of the brain is;
Options:

, w Thyroid

-  Pituitary



= % Pancreas
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Question Number : 3 Question Id : 3228773857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 4 Question Id : 3228773858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The plasma protein that maintains oncotic pressure of blood is:
Options:

1 % Globulin

- u Fibrinogen

5 « Albumin

4 % Prothrombin

Question Number : 4 Question Id : 3228773858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 5 Question Id : 3228773859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
BILE is synthesized in the:

Options:
1 « Liver

- % Gall Bladder



= % Stomach
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Question Number : 5 Question Id : 3228773859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 6 Question Id : 3228773860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a bleeding disorder?

Options:
1 % Anaemia
> % Leukaemia

-  Haemophilia

4 % Leucopenia

Question Number : 6 Question Id : 3228773860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 7 Question |d : 3228773861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A pregnant woman visits a hospital with Hemoglobin level less than 8 gms/dl just 7 days
before delivery. The ideal treatment is:

Options:

1 % Oral Iron Tablets

5 R Injectable Iron formulations



- % Deworming the mother
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Question Number : 7 Question Id : 3228773861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 8 Question Id : 3228773862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The most common complication of a patient on Insulin therapy is:

Options:
, % Hyperglycemia

5 of Hypoglycemia
s % Hypernatremia

, % Hyperkalemia

Question Number : 8 Question Id : 3228773862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 9 Question Id : 3228773863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Cold Shock’ is also called as:
Options:

1 Hypovelemic shock



- % Vvasogenic shock
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4 % Obstructive shock

Question Number : 9 Question Id : 3228773863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 10 Question Id : 3228773864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If the pulse rate 1s more than 100 per minute. the condition is called:
Options:

, w Bradycardia

-  Tlachycardia

- % Hyperpnea

, % Bradypnea

Question Number : 10 Question Id : 3228773864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 11 Question Id : 3228773865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Among the following, this is the only disease that has been eradicated:
Options:

1 % Cholera

> % Chicken pox



o  Small pox
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Question Number : 11 Question Id : 3228773865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 12 Question Id : 3228773866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tuberculosis 1s predominantly spread by:

Options:

1 ® Vector
-  Droplet
= % Fomites

4 % Food

Question Number : 12 Question Id : 3228773866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 13 Question Id : 3228773867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Anaphylaxis to drugs is treated by:
Options:

, % Oxygen administration

- % Nebulization



5  Adrenaline injection
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Question Number : 13 Question Id : 3228773867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 14 Question Id : 3228773868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Oral vaccine is used to prevent:

Options:
1 % Tuberculosis

5 % Mumps
5 % Measles
4 « Polio

Question Number : 14 Question Id : 3228773868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 15 Question Id : 3228773869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Substances that neutralize bad odour are called as:
Options:

| % Detergents

> « Deodorants



= % Germicides
4 Pre(i8li&fSbers and Nursing Government Job alerts only at pharmagang.com

Question Number : 15 Question Id : 3228773869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 16 Question Id : 3228773870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hospital dressings are best disposed by:
Options:

|« Burmning

- % DBoiling
- % Dumping
4 % Burying

Question Number : 16 Question Id : 3228773870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 17 Question Id : 3228773871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Chicken pox is caused by a:

Options:
1« Virus

- % DBacteria

- % Parasite



4 % Mosquito
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Question Number : 18 Question Id : 3228773872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
DPT vaccine protects against ALL — EXCEPT:

Options:

, w Diphtheria
> « Polio

= % Tetanus

4 % Pertussis

Question Number : 18 Question Id : 3228773872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 19 Question Id : 3228773873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The drug used to treat Tuberculosis is:

Options:
1 % Amoxicillin

> % Chloramphenicol

-  Rifampicin



, # Ciprofloxacin
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Question Number : 20 Question Id : 3228773874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ORS mainly contains:

Options:
1 % Sodium and Fructose

> « Sodium and Glucose
z % Calcium and Glucose

4 % Calcium and Fructose

Question Number : 20 Question Id : 3228773874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 21 Question Id : 3228773875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Dengue fever is transmitted by mosquitoes of species:
Options:

1 « Aedes

> % Anopheline

z % Culex



4 % Mansonia
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Question Number : 22 Question Id : 3228773876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hansen'’s disease is the other name for:
Options:

1 % Malaria

> % Cholera

= % Tuberculosis

4 « Leprosy

Question Number : 22 Question Id : 3228773876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 23 Question Id : 3228773877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Sexually transmitted disease include ALL — EXCEPT:
Options:
. % Syphilis

- % Gonococcal infection
z % AIDS



» Typhoid

hImagaRg:cem

PreVIOUS pagpers an urSIS%QQu overnm (SJ tlonaSLenﬁgc:)\? Dlsplgl Question

Question Number Question Id : 3228773 estion Type: M
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ICr=IC e =] F TIza, i g g g Jrer e & geft
omfaeT 2

Options:

1 ® ﬁw

o % TTGATRIRIFT ThaT

5 ® UE:-H

4 « SIdRIAS

Question Number : 24 Question Id : 3228773878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The instrument used to record blood pressure is:

Options:
, = Algometer

-  Sphygmomanometer

z % Thermometer
4 % Aesthesiometer

Question Number : 24 Question Id : 3228773878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 25 Question Id : 3228773879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Pap smear” is used to diagnose:

Options:
1 « Cervical cancer

- % Breast cancer

= % Ovarian cancer



4 % Stomach cancer
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Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 26 Question Id : 3228773880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Snellen’s chart is used to assess defect in:
Options:

1 ® Ear

> # Nose
5 Eye

4 = Finger

Question Number : 26 Question Id : 3228773880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 27 Question Id : 3228773881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The permanent method of sterilization in male is:

Options:
] ® Condom use

5 o Vasectomy
- % lubectony

4 % IUD insertion
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Question Number : 28 Question Id : 3228773882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The national family welfare programme in India was launched in:

Options:
1 « 1952

> % 1958
5 % 1962
4 % 1963

Question Number : 28 Question Id : 3228773882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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» 1952
> % 1958
= % 1962
4 % 1965

Question Number : 29 Question Id : 3228773883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Neonatal period is:
Options:

, % Uptolyearofage

- # 1-4yearsof age
First 28 days of life

28% day to 1 year
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Question Number : 30 Question Id : 3228773884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average energy value of human milk is:

Options:

, % 50 Ikcal per 100ml
o o 10 keal per 100ml
5 % 100 keal per 100ml

4 % 150kcal per 100ml
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Question Number : 31 Question Id : 3228773885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The main muscle of inspiration is:

Options:
1 % Internal intercostals

-  Diaphragm
% % Scalenus Anterior

4 % Rectus Abdominus
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Question Number : 32 Question Id : 3228773886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ECG is used to assess the function of:
Options:

1 % Brain

- » Kidney
3 % Liver
4 « Heart

Question Number : 32 Question Id : 3228773886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 33 Question Id : 3228773887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bitot’s spots in conjunctiva is a sign of deficiency of:

Options:
1 % Vitamin D

> % Vitamin B12
z % Vitamin B6
4 « Vitamin A

Question Number : 33 Question Id : 3228773887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 34 Question Id : 3228773888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pasteurization is the procedure used to purify:

Options:

1 ® Water
- % Vaccines
= % Meat

4 « Milk
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Question Number : 35 Question Id : 3228773889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Inhalation of cotton fiber dust over long periods of time causes:
Options:

1 % Silicosis

- % Anthracosis

-  BYyssinosis

, % DBagassosis

Question Number : 35 Question Id : 3228773889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 36 Question Id : 3228773890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Universal Donor’ belongs to this blood group:
Options:

. % O positive

>  Onegative

- = AB positive

4 % ABnegative
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Question Number : 37 Question Id : 3228773891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hypothyroidism in children causes:
Options:

. » Acromegaly
- % Dwarfism

3 o Cretinism

4 % Rickets
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Question Number : 38 Question Id : 3228773892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The normal systolic blood pressure in a 28yt old adult is:

Options:
| % 100 mmHg

5 120 mmHg
5 % 140 mmHg
4 % 160 mmHg

Question Number : 38 Question Id : 3228773892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tw 28 TEIT FuTR F wEey o aeT Baar g 87
Options:

, = 100 mmHg

5 « 120 mmHg
- » 140 mmHg
4 » 180 mmHg

Question Number : 39 Question Id : 3228773893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Platelets count is decreased markedly in;
Options:
, % Typhoid fever

> % Malarial fever
z % Rheumatic fever

4 « Dengue fever

Question Number : 39 Question Id : 3228773893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
CoITeleH #T HEAT H 3E FROT FAT HEr 87

Options:
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Question Number : 40 Question Id : 3228773894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
An adult is declared to be obese. if the BMI is more than:

Options:

1 B 20
> #% 25
= o 30
g w 35

Question Number : 40 Question Id : 3228773894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
U IEH F TYASE GI¥T R T 8, I BMI " 3T 2

Options:

1 & 20
- % 2D
3 v 30
4 % 35

Question Number : 41 Question Id : 3228773895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Commonest cause of blindness in India is:
Options:

, % Vitamin A deficiency

- « Cataract
=z % Glaucoma
4 % Refractive error

Question Number : 41 Question Id : 3228773895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
RA H HUUS FT FIH HTH HROT F4T 872

Options:

, % FHa@a A Fr &4
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Question Number : 42 Question Id : 3228773896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Increase in number of new cells is called:
Options:

, = Hypertrophy

-~ u Atrophy
3 o Hyperplasia
4 % Metaplasia

Question Number : 42 Question Id : 3228773896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT FIfRIT Fr TEAT F JTE FT FAT F AGT 872

Options:

1_;333@%
zlﬁuﬁﬁ

5  BTESIRTHTRT
4 % Hareofarar

Question Number : 43 Question Id : 3228773897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a healthy man who weighs 70kg. the total body water is approx:

Options:
1 % 22 liters

> % 32 liters
3 o 42 liters
4 ® 52 liters

Question Number : 43 Question Id : 3228773897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Wﬁwwmﬂm?ﬂﬁﬂ‘ré‘, #ﬂTﬁTﬁm?ﬁﬁTﬁ AT 91T Tohdar grei?
Options:
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Question Number : 44 Question Id : 3228773898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The normal pH of arterial blood is:
Options:

1 B 7.0

=2

> % 7.
z. ¢ 14
g W 7.8

Question Number : 44 Question Id : 3228773898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
&T gHaTT #T @A pH fraar g 2

Options:

1 % 7.0
> #® 1.2
2z« 1.4
4 % 1.8

Question Number : 45 Question Id : 3228773899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Isotonic fluid is:

Options:
1. % 0.1% NaCl

> % 1% NaCl
5 % 0.45% NaCl
4 v 0.9% NaCl

Question Number : 45 Question Id : 3228773899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TEIed A TETY (BT AF Fo[gs) T 87

Options:

% 0.1% NaCl
- % 1% NaCl
- % 0.45% NaCl



. v 0.9% NaCl

QRREGYIRMS: PAPSIS: AN Drsina ROYERMGES JaR,AGHS,CPL R RRALMANARY. cam

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

During perineal operations. patients are kept in:
Options:

, = Irendelenburg position

-  Lithotomy position

- % Recumbent position

4 % Sim’s position

Question Number : 46 Question Id : 3228773900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9Rfae et & e, A & e Y & w@r e §2

Options:

| % Sesolael fEufa
- TorTerEr Efa
o W ﬁﬁg-é-

Question Number : 47 Question Id : 3228773901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Epistaxis is bleeding from:
Options:

1 « Nose

- % Gums

= % FEars

4 % Eye

Question Number : 47 Question Id : 3228773901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
¥ T F84 F OEEaT Fed g

Options:

1 o olleh
2> ® 2k
3 % ohlal
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Question Number: 48 Question Id : 3228773902"Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Normal tidal volume of lung is:

Options:
1 ® 250ml

> « 500ml
=z % 750ml

4 % 1000ml

Question Number : 48 Question Id : 3228773902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

BT F AT 91 = AT Faar T 272
Options:

1 % 250 mi
5 « 500 mi
= % 750 ml
4 % 1000 ml

Question Number : 49 Question Id : 3228773903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The hormone that stimulates release of bile into duodenum is:
Options:

1 % Gastrin

> % Secretin
-  Cholecystokinin

4 % Enterogastrone

Question Number : 49 Question Id : 3228773903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fie T gl AT § Reg & M@ #7 st a1 82

Options:

| & I

.« TERa

. v AR
4 % TR



Qu%tlon Number : 50 Question Id : 3228773904 Que;uon Type MCQ Option Shuffling : Yes Display Question Number : Yes
IeL| uesnon tion : No 8pwn Orlentatl Vertical
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Tenderﬂes:, at McBurney’s point is suggestive of:

Options:
| « Acute Appendicitis

> w Acute Cholecystitis

= % Acute Pancreatitis

4 % Acute Gastritis

Question Number : 50 Question Id : 3228773904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hepaa! [6g T FIAAAT [FHPT TIAF 87

Options:

Jﬁrmégmmr
L « ST FafarEied

L x ST AT (HfRameEien)
4 % AISOT FSTY

Question Number : 51 Question Id : 3228773905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The reference point for the measurement of JVP is the:

Options:
, % Suprasternal notch

5 g Sternal angle

- % Xiphisternum

4 = Nipple

Question Number : 51 Question Id : 3228773905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
JVP F AT & faw west Rig = 72

Options:

grEeao e
Slﬁm
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Central incisors appear at:

hImagaRg:cem

ing:Y Dlsplgl Question

Options:

;% 4% month
- « 61 month
5 % 10% month

4 % 128 month

Question Number : 52 Question Id : 3228773906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Options:

| w oS w

2.#%;@#3&

3.333_\':*'& TR A
uaﬂﬁé F@ﬁﬁ'

Question Number : 53 Question Id : 3228773907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Enuresis means:
Options:

, % Coughing in sleep

- » DBreathlessness in sleep

5  Urination in sleep

4 % Walking in sleep

Question Number : 53 Question Id : 3228773907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TEOITEE & HY 27 27
Options:
o % A H WE F oA
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Question Number : 54 Question Id : 3228773908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Painful menstrual cramps is otherwise called:

Options:
1 ® Amenorrhea

> % Polymenorrea
- % Menometrorrhagia

4 v Dysmenorthea

Question Number : 54 Question Id : 3228773908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ZedTe HATZATT Uas &I HIT 4T Fa7 A 27
Options:

| % THANET
5> % TTTHATET
5 x HAFECREMET
4 v FEoEaTET

Question Number : 55 Question Id : 3228773909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
All of the following are killed vaccines — EXCEPT:

Options:
1 % Cholera

> o BCG
3 % Pertussis
4 % Tetanus

Question Number : 55 Question Id : 3228773909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 7 F OIEFT, T T3 3fFEa, S9N 1 IEIE
Fr TR FATAT 1T 872
Options:

| % &

> ¢ BCG
5 % el W
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The most appropriate time for introducing complementary foods in children is:
Options:

1 % Afier 2 months

> o After 4 months

z % After 6 months

4 % After 8 months

Question Number : 56 Question Id : 3228773910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TeA H T HER IE Fa & 00 a0 39959 GAT FiT @ 87

Options:

| % 2 HES % |Ig
2.%’»‘?4“@?{#%
5 % 6 FEA F e
, % 8 FEA F e

Question Number : 57 Question Id : 3228773911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Quantitative assessment of neonate’s condition at birth is done by:
Options:

1 % Examination of JVP

- » Recording BP

5  Apgar score
4 % Recording temperature

Question Number : 57 Question Id : 3228773911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SIeH F FHYT FATd R FH AT F AECHF Hodiehel e foham STam 87

Options:

, % JVP 9feeor
o R BPﬁH’ﬁ:ﬁﬁT

s v HAWR TPR
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Question Number : 58 Question Id : 3228773912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hydrocele is swelling of:
Options:

1« Scrotum

-~ % Liver
5 % Spleen

4 % Lymphnode

Question Number : 58 Question Id : 3228773912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

g fFw i T &7

Options:

| 3SR &r e
o % TP

3 % ool

4 % TR a1ty

Question Number : 59 Question Id : 3228773913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Myopia is corrected by:
Options:

1 # Convex lens

> « Concave lens

5 % Cylindrical lens

4 % Bifocal lens

Question Number : 59 Question Id : 3228773913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frepe =iz o & & g &2

Options:
1 ® Scdlol ﬁrﬂ'

o HIAOA o

5 % SoIATRR o
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Question Number : 60 Question Id : 3228773914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Haematopoiesis in adults occur at:

Options:
1 ® Liver

5 ® Spleen
= « Red bone marrow

4 % Yellow bone marrow

Question Number : 60 Question Id : 3228773914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
JUEHT H SHCNITEE &gl 9T AT 872
Options:

, % X
> % foeelr
5 o TS AT Ao
4w TN AT HeeT

Question Number : 61 Question Id : 3228773915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The longest portion in the fallopian tube is:

Options:
, = The interstitial portion

> # The isthmus

-  Ampullary portion

, % Infundibular portion

Question Number : 61 Question Id : 3228773915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST ogd H g99 o1 Grar sia @ 872
Options:

| % Hedlrelrg o1

5> % FHASHEHAS

o o TOITAT ST
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Question Number : 62 Question Id : 3228773916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ovulation is induced mainly by:

Options:

1. ® FSH

5 % Estrogen
5 % Progesterone
4 ¢ LH

Question Number : 62 Question Id : 3228773916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fBarcose 7ew &7 @ o o 9fta gar 27

Options:

1 % FSH

o u TS

g_wm
4 ¢ LH

Question Number : 63 Question Id : 3228773917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average blood loss in a normal menstrual cycle 1s:

Options:
1 « 50to 100 ml

> % 100to 150 ml
z % 15010200 ml
4 % 200to 250 ml

Question Number : 63 Question Id : 3228773917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T HHAT ATTOS 97 9% H A9d hda @ # FAr gt 272

Options:

; v 50 & 100 ml
- = 100 & 150 mi
- % 150 & 200 mi
4 % 200 ¥ 250 ml




Qu%tlon Number : 64 Question Id : 3228773918 Que;uon Type MCQ Option Shuffling : Yes Display Question Number : Yes
IeL| uesnon tion : No 8pwn Orlentatl Vertical
Previ S apers and NUrsing Goveriment Job alerts only at pharmagang.com

‘Spnmbmkerr appearance of cervical mucus is a sign of:

Options:
L % Pregnancy

> % Menstruation

= « Ovulation

4 % Menarche

Question Number : 64 Question Id : 3228773918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frar g i fEudatde” suteyfY g & Oea 22
Options:
1_pss ITSTIEAT
2 % HIEART
2 o ECIGEED
iR

Question Number : 65 Question Id : 3228773919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The fetal kidneys start producing urine at:

Options:
1 #% 8weeks

> % 10 weeks
3 « 12 weeks

4 % 14 weeks

Question Number : 65 Question Id : 3228773919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
0T IE FT AT 3eeA T I 27
Options:

;. 8 WEE
- % 10 HedE
2 o 12 =dig
4 % 14 Hedlg



Question Number : 66 Question Id : 3228773920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

C—%rect 1 Wrong: 0.25

FRYIOHSBRRSISVRIY NS FQyetnment Job alerts only at pharmagang.com

Options:
1 % Liver

~ % Uterus
2 % Ovary
4 + Placenta

Question Number : 66 Question Id : 3228773920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IE I HiT T E, ST OT F TEOT TSI FHIAT &7

Options:

l_wﬁ?'ﬁ
5 % AT

- % ST
4.\;?3-'?'-

Question Number : 67 Question Id : 3228773921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The male sex hormone is:
Options:

1 « Testosterone

» w Estrogen

5 % Progesterone

4 % Cortisol

Question Number : 67 Question Id : 3228773921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frrafaf@a & @ & 1 9 Ty gH 87

Options:

| v TR
5w TEEISA
L x SRR
s« FfEEw

Question Number : 68 Question Id : 3228773922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
The hormone that confirms pregnancy is:
ofbfvious papers and Nursing Government Job alerts only at pharmagang.com

1 # LH

~ % FSH
z # TSH
4 « HCG

Question Number : 68 Question Id : 3228773922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HieA HT AT THTEAT Y T Har g7

Options:

; & LH

-~ % FSH
2 ® ISH
4 « HCG

Question Number : 69 Question Id : 3228773923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average weight gain during pregnancy is:

Options:
, % 5—6kg

. 2= .
> o 12—13kg

5 % 15—16kg

. % 19-20kg

Question Number : 69 Question Id : 3228773923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IATET F SF FEaa Faar 399 g2 27

Options:

, % 5 -6 fraamH

> v 12 - 13 freens
= % 15 - 16 fFar=nd
4 # 19 - 20 fFa=mH

Question Number : 70 Question Id : 3228773924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Uterus is palpable above the symphysis at:



Options:

Al e
1 % 8 week _
Previgus papers and Nursing Government Job alerts only at pharmagang.com
> # 10" week

s« 128 week

4 % 141 week

Question Number : 70 Question Id : 3228773924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT TEIUT & FIT e TF J<{ 3T 272
Options:

. % SO edE H
5 « ST Teag H

4 % diggd weaE H

Question Number : 71 Question Id : 3228773925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A woman who is pregnant for the first time 1s called:

Options:
, % Primipara
-  Primigravida

- % Nullipara
4 % Multipara

Question Number : 71 Question Id : 3228773925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T HRT S 9T 97 THEST 2 & 3T AT FaEr J 9w 27
Options:

1_$$ﬁﬁ-qm
o  TafEETEET
ATooTaTIT

T ® 2

4_&%m

Question Number : 72 Question Id : 3228773926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The second stage of labour is stage of:



Options:
1 # Dilatation of cervix

E_Pz{el\ﬁitgngQg&g&igggny%mag}lgovemment Job alerts only at pharmagang.com

- w Placental delivery

4 Expulsion of fetus

Question Number : 72 Question Id : 3228773926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SHT N EET WO Fe A § FEer o g 27

Options:

| % I AT F YA F
5 % ?Tﬂﬁ'ﬂmgﬁégmﬂ a-ﬁTrqus T

5 % HT F&EERoT &
. v HOT & fersrae @

Question Number : 73 Question Id : 3228773927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The commonest presentation of fetus at the onset of labour is:

Options:
, % Podalic presentation

- % Shoulder presentation
- » Face presentation

4 o Vertex presentation

Question Number : 73 Question Id : 3228773927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
THT FT THTT H 0T N WAT TEGIa 4T 2rar &2

Options:

I MUEEES
FT TEIT
- B e

[t

=& JEI

o ®

[

JeFH TEI

4

Question Number : 74 Question Id : 3228773928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Puerperium is the period after:
Optjons: , .

Bre IQUS 9apers and Nursing Government Job alerts only at pharmagang.com
4 clIVEL

> % Lactation
=z % Labour

4 % Conception

Question Number : 74 Question Id : 3228773928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
giaeEe 3E fFEF ae A 27

Options:

.« §Y fasean GERIG))

3.2.3'51'\5!?!'
4 % 0T

Question Number : 75 Question Id : 3228773929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hormone essential for milk ejection is:
Options:

1 % Prolactin

5 % Estrogen

5 % Progesterone

T, Oxytocin

Question Number : 75 Question Id : 3228773929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g & 3cHed & [T FiF G FHAF HETF 87

Options:

1_&%
z.ﬁm@m
. x SRR
, v R

Question Number : 76 Question Id : 3228773930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The chief site of ectopic pregnancy is:



Options:
» Tubal pregnancy

Prevyi rs and Nursin vernmen lerts onl harm ng.com
] ueﬂg&%ﬁgpﬁ%ﬁgy ursing Government Job alerts only at pharmagang.co

1

5 % Ovarian pregnancy

, w Cervical pregnancy

Question Number : 76 Question Id : 3228773930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e e #1 ATT TS i 682

Options:

| TS TS

1R

o % 9T Fr TR
s x [SFEafdr sTefaEeT
, « TETSHS IsfEET

Question Number : 77 Question Id : 3228773931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The normal duration of pregnancy is:

Options:
, = 250days
5 280 days

5 w 300 days

4 ® 365 days

Question Number : 77 Question Id : 3228773931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TaaryT fr AT AR Radr B 37

Options:

% 250 &
, » 280 &=
- » 300 &
. % 365 f&=

Question Number : 78 Question Id : 3228773932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Prophylaxes of Rh-incompatibility is done by:
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aiti-
> « Administration of anti-D to mother

- % Exchange transfusion in child

, % Exchange transfusion in mother

Question Number : 78 Question Id : 3228773932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rh-37591fa T TFaH FH Fr Frar &7
Options:

. » == T D-FERR (WD) I

. AT F DR (TE-D) T
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Question Number : 79 Question Id : 3228773933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TORCH infections include ALL — EXCEPT:
Options:

, % Toxoplasmosis

= o« Tetanus
=z % Rubella
4 B Cytomegalovirus

Question Number : 79 Question Id : 3228773933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 ® n‘.‘.Iﬂ-HI‘-ﬁIaIHIIHH
> CEAH
3 % FadT
, % FTECIHATEEH

Question Number : 80 Question Id : 3228773934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Postpartum hemorrhage is defined as a minimum blood loss of:



Options:

1 % 250ml

EP{;e_;\/g,g% papers and Nursing Government Job alerts only at pharmagang.com
=z % 1000 ml

4 % 1500 ml

Question Number : 80 Question Id : 3228773934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

JHACR {&FTAT H T T 78dH fohdell gl & & H TATNT fohar ST g2

Options:

| % 250 ml
5 » 500 ml
- = 1000 ml
. = 1500 ml

Question Number : 81 Question Id : 3228773935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ripeness of cervix is assessed by:
Options:

1% Apgar score

> % Downe score

-  Bishop score

4 % New Ballard score

Question Number : 81 Question Id : 3228773935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TR AT Fr TOTET FT ToAFA FH AT AT 87

Options:

| % ISR TR
o % Z13s FTRR
s v [T =R
=g TS TR

4 B

Question Number : 82 Question Id : 3228773936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Long term control of blood sugar is assessed by estimation of:

Options:



, v HbAlc%
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- » Post prandial blood sugar

4 % Glucose Tolerance Test

Question Number : 82 Question Id : 3228773936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
=3 P W wET A T ATa0r F Hearea & Aeee 8 har ST 87

Options:

, « Hb Alc %
 @Tell U¢ oI IF
2_&-& 3
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- ToERTE WigSuaT dvetor

Question Number : 83 Question Id : 3228773937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Lack of bowel sounds in the immediate postoperative period may be a sign of:

Options:
1 % Intestinal obstruction

> % Intestinal perforation

-  Paralytic Ileus

, % Secondary Hemorrhage

Question Number : 83 Question Id : 3228773937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
| % AT H THEC

o % HTAT T JeT

5 v TAFEEIE AT
4 » SHaCITeR TFATEE

Question Number : 84 Question Id : 3228773938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When a patient excretes less than 300ml of urine per day, the condition is called:

Options:



, w» Polyuria
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5 % Anuria

4 % Uremia

Question Number : 84 Question Id : 3228773938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
STF T W 9fY @ 300 ml & FH HT SANT T 8, 3H AT F FAT Fal
Tar &2

Options:

Question Number : 85 Question Id : 3228773939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Passing blood in urine is called:

Options:
1 % Uraemia

> % Proteinuria
= « Haematuria

4 % Polyuria

Question Number : 85 Question Id : 3228773939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT # & 3 F FAT gl AT @82

Options:

= 3FEET
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Question Number : 86 Question Id : 3228773940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Hydronephrosis is:
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- % Dilatation of gall bladder

= % Dilatation of intestines

4 « Dilatation of kidneys

Question Number : 86 Question Id : 3228773940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FESARIEE 4T 27

Options:

| % 9T FT Heraw
o % Tearerd &1 St
yot el

Question Number : 87 Question Id : 3228773941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Sleeping pulse rate is classically increased in:
Options:

, » Hypothyroidism

5 of Hyperthyroidism
3 ® Hyperparathyroidism

4 R Hypoparathyroidism

Question Number : 87 Question Id : 3228773941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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1. ®
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5 % HIAISATEAT
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Question Number : 88 Question Id : 3228773942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The chief regulator of immune mechanism is:

Optjons:
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> % Suppressor T cells
5 o Helper T cells

, % B Lymphocytes

Question Number : 88 Question Id : 3228773942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

| % SEged HIRHT
5 % AHA T FRNFT

Question Number : 89 Question Id : 3228773943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bartholin’s gland is present in:

Options:

| = Ovary

- % Uterus
z % Cervix

e, Vagina

Question Number : 89 Question Id : 3228773943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

areiffer ofYr frw & Al g 87
Options:

1 ® =TT

5 % AT
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Question Number : 90 Question Id : 3228773944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



The thickest layer of uterus is:
Optjons:
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> % Perimetrium

- « Myometrium

4 % Endometrium

Question Number : 90 Question Id : 3228773944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Teery Y TEE A T FiT W aF 2

Options:

Question Number : 91 Question Id : 3228773945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The constant phase in a menstrual cycle is:
Options:

, % Proliferative phase

- % Ovulation phase

- % Menstrual phase

4 « Luteal phase

Question Number : 91 Question Id : 3228773945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
| % Sotelel- 2ol =0T

- » EEcEsa =
5 % HANTHS g3 TWOT
4_Ja|ﬁ'aﬁawr

Question Number : 92 Question Id : 3228773946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fern test is used to assess:
Options:

1lPJem9g§1|p{@iQ§rs and Nursing Government Job alerts only at pharmagang.com
- « Ovulation

3 % Cancer cervix

4 8 Pregnancy

Question Number : 92 Question Id : 3228773946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options :
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4 % T T

Question Number : 93 Question Id : 3228773947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Natural method of family planning is:
Options:

1 « Calendar method

- % Oral contraceptives

=z # Condoms
4 ® IUCDs

Question Number : 93 Question Id : 3228773947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. v oy BfYr
g_wﬂﬁﬁﬂ'ﬂ%

= ﬁﬂ'
4 % |UCDs

Question Number : 94 Question Id : 3228773948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The chief source of progesterone is:



Options:
1 % Ovary
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=z % Adrenal medulla

4 + Corpus luteum

Question Number : 94 Question Id : 3228773948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 95 Question Id : 3228773949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The drug of choice for induction of ovulation is:
Options:

; « Clomiphene

> % Ethinyl oestradiol

= % Danazol

4 % Levonorgestrel

Question Number : 95 Question Id : 3228773949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Becgea & 3T & v dFoas gar &l O &7

Options:
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Question Number : 96 Question Id : 3228773950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Vulsellum forceps is used to grasp:



Options:
« Posterior vaginal wall

Previous papers ang Nursing Government Job alerts only at pharmagang.com
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- % Fallopian tube

4 « Cervix

Question Number : 96 Question Id : 3228773950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 97 Question Id : 3228773951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The first event of puberty in girls is:
Options:

1 % Pubarche

> « Thelarche

= % Menarche

4 % Pain abdomen

Question Number : 97 Question Id : 3228773951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 98 Question Id : 3228773952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most preferred route of administration of insulin is:



Options:

1 % Intramuscular
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= « Subcutaneous

4 % Intravenous

Question Number : 98 Question Id : 3228773952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 99 Question Id : 3228773953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most distal blood vessel that can be palpated is:

Options:
1 ® Femoral artery

o « Dorsalis pedis artery

- » Popliteal artery

, % Posterior tibial artery

Question Number : 99 Question Id : 3228773953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 100 Question Id : 3228773954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Serum amylase level is used to assess damage to:



Options:
; % Liver
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3 % Stomach
4 % Intestine

Question Number : 100 Question Id : 3228773954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Section Id : 322877161
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questions to be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 322877180
Question Shuffling Allowed : Yes

Question Number : 101 Question Id ;: 3228773955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Ministry has launched an online quiz program named “BHARAT KO JANIYE™?

Options:

, » Ministry of Commerce

> % Ministry of HRD

5 o Ministry of Overseas Indian Affairs

4 % Ministry of Culture



Qu%tlon Number : 101 Question Id : 3228773955 Questlon Type MCQ Option Shuffling : Yes Display Question Number : Yes
IeL| uesnon tion : No 8pwn Orlentatl Vertic
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Question Number : 102 Question Id : 3228773956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which is the nearest planet to the Sun?

Options:

1 ¥ Mercury
-~ % Venus
=z % Pluto

4 % Jupiter

Question Number : 102 Question Id : 3228773956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e 7 & g7 & Ta9 J=c% 98 S q 87
Options:

, oS¢
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Question Number : 103 Question Id ;: 3228773957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
UNO was founded in the year:

Options:
1« 1945

> % 1940
s % 1920



4 % 1935
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

FIFT T¢ 9 &F a¥ & Ffa fRar o= ar?

Options:

. v 1945
. % 1940
- % 1920
., = 1935

Question Number : 104 Question Id : 3228773958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consumer Day is celebrated on:

Options:
| January 24

- % October 23
- % Aprill
4 % March 15

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 104 Question Id : 3228773958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3udear feaw e G AT aar 872
Options:

| v 24 FEY
. 23 3EE

&

33@1@?
4 % 15 AN

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 105 Question Id : 3228773959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is used as a cooling agent in refrigerator?
Options:
, % Liquid Hydrogen

5 o Liquid Ammonia

- % Liquid Nitrogen



, % Liquid Helium
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 106 Question Id : 3228773960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Free-throw’ is given in which of the following sports?
Options:

1 % Cricket

> % Volleyball

= « DBasketball
4 % Badminton

Question Number : 106 Question Id ;: 3228773960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
gt e 7 ¥ &g 9 & fEar JmEar 22

Options:

, % fhepe
o % Frearel
S_Jmﬂ'
4 % S=fHSA

Question Number : 107 Question Id ;: 3228773961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Anita says, “Prabhu’s father is the only son of my father”. How is Anita related to Prabhu?

Options:
1 « Aunt

> % Sister
= % Mother

4 % Grandmother



Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.
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Correct: 1 Wrong: 0.25
HiAar FEdr 8, ‘93] F Tar AY Far F sweila 9 27| 3ar 93] ¥ G g@n
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Options:

| v TTE

5 % dgel

5 % AT

4 % T

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 108 Question Id : 3228773962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If MUSIC is coded as 37489 and GHAZALS is coded as 6051524, then how can SILICA
be coded?

Options:
{ ® 483895

5 482895
s % 482985
4 % 483085

Question Number : 108 Question Id : 3228773962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tt MUSIC T 37489 &= f&ar srar 2, 3k GHAZALS & 6051524 i fgar
T &, ar SILICA FF F7 1T Tar FJem?

Options:

| % 483895
. » 482895
. = 482985
, = 483985

Question Number : 109 Question Id : 3228773963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the related word from the given alternatives:
Autotroph : Producer : : ? : Consumer
Options:
. % Enfrepreneur



- % Carmivore

= PrelRtIS R Bers and Nursing Government Job alerts only at pharmagang.com

4 % Herbivore

Question Number : 109 Question Id : 3228773963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1.$mﬁr
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3 v T
4 % TR

Question Number : 110 Question Id : 3228773964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Arrange the following words in a logical sequence.

1. Result 2. Interview 3. Exam 4. Application 5. Appointment

Which of the following options gives the most suitable arrangement?

Options:
1.v 43125

> # 32145
3 #® 31245
4 #® 42315

Question Number : 110 Question Id : 3228773964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

v 43125
. % 32145
- = 31245
. = 42315

Question Number : 111 Question Id : 3228773965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
If TRUST should be coded as RPSQR. then HONEST will be coded as
ombfvious papers and Nursing Government Job alerts only at pharmagang.com

, v FMLCQR
> % HNSEOT

. x FMCRQL

. » FRQCLM

Question Number : 111 Question Id : 3228773965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afg TRUST =t RPSQR &3 feam 71am g, ar HONEST &r Fs &ar e

Options:

. v FMLCQR
. » HNSEOT
- » FMCRQL
. # FRQCLM

Question Number : 112 Question Id : 3228773966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
X : ¥Y=3:4dand Y :Z=5:6.thenwhatis X : Z?

Options:
1. % 3:

o ® 0!
=l
4 % §:

Lh GO L O

Question Number : 112 Question Id ;: 3228773966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

G X :¥Y=3:43RY:Z=65:868 A X :Z7 &7

Options:

1 3:86
> % 6 .3
2« 5.8
42 8:08

Question Number : 113 Question Id : 3228773967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Simplify:

3ﬁ+v"1_—%xf_=_.



Options:

s 52
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T B 3\’6
4 #® 10

Question Number : 113 Question Id : 3228773967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

faet & & F
3y2+VT8— 1 V8 =

Options:

1_,,.-;5«.@
2 % 6v2

4 #® 10

Question Number : 114 Question Id : 3228773968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Abdhul. Vipul and Sunil enter into a partnership investing Rs 1000. Rs 3600 and Rs 5800
respectively. At the end of a certain period they earn Rs 2860 as profit. Vipul’s share of
profit will be

Options:
1 ® Rs 905

> % Rs 980
= « Rs 990
4 #® Rs 1000

Question Number : 114 Question Id : 3228773968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hege, fager AR gelter v Wrgierdl e E, 3R 3WA A & 1000, & 3600
3R ¥ 5800 &1 g1 Tk fAfRea WA & wewnd ¥ & 2860 & oM HAS &l
SH o H faer @ wmsTer grem |

Options:

| % ¥ 905

. % ¥ 980
v ¥ 990

. % ¥ 1000



Qu%tlon Number : 115 Question Id : 3228773969 Questlon Type MCQ Option Shuffling : Yes Display Question Number : Yes

n Orlentatl Vertic

ursing Bovernament Job alerts only at pharmagang.com

| Line Quest t N
PreviaiSpapers and'N
Insert the missing number.
2 5 2
3] 4 3
1 2 4
36 197 ?
Options:
1 % 109
2. o 99
T W 72
4 W o7

Question Number : 115 Question Id : 3228773969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

o # 399 "Ear 93

2

+

2

3

4

3

1

2

36

197

Options:

, % 109

« 99
o ® ?2
g4 ® 97

Question Number : 116 Question Id ;: 3228773970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select the suitable alternative to complete the series.
0,7,26, 7, 124, 215

Options:
1 ® 80

2_%4?
3_$3_"-"

1
4 o 63



Question Number : 116 Question Id : 3228773970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

rect: 1 Wrong: 0.25
revious papers.and . Nursin ov,ernment Job alerts only at pharmagang.com
%ﬁ Eﬁg tl'U‘I' é% rdehed &Rl AT yarp gang.

8,728 7 ']24, 215
Options:
; % 80
o w 47
2 % 51

v B3

Question Number : 117 Question Id : 3228773971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select the suitable alternative to complete the series.
512.64.16.8.8.16.

Options:
1 « 64
- % 16
= #% 32
4 % 6

Question Number : 117 Question Id : 3228773971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e AT F U7 S 8 39GFA ST F A i)
B12. 64 16,8 8 16

Options:

« 64
o B 16
=z B 32

4 % 6

Question Number : 118 Question Id : 3228773972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Anita can do 1/3 of a work in 5 days and Vinita can do 2/5 of work in 10 days. In how
many days can they finish the work., if they work together?

Options:

3 v
L 9; days

1
s 7 . days



1
8; days

g .

Preg/io&%papers and Nursing Government Job alerts only at pharmagang.com
4 % 8

Question Number : 118 Question Id : 3228773972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT U T T 1/3 A7 5 T H T g4ar g, 3 e 33 s #7205
T 10 BAt F T Toar g1 a1 B9 7 339 737 # Faa @& § gacg #1907

Options:
. i 92 o=t #
L7 R A
8- feat &
82 featt A

Z.

3%
4 %

Question Number : 119 Question Id : 3228773973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A train 175m long is running at a speed of 45km/hr. Time taken by the frain to cross a pole
is

Options:
1 % 15 seconds

> % 16 seconds
z % 18 seconds

4 « 14 seconds

Question Number : 119 Question Id : 3228773973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 175 Hiex o6 ¢ 45 frefvaee & AR ¥ gl Er 81 39% @ U
GFE T 9N T H o9 Jrel FHT 2l

Options:

. % 15 T3
5 % 16 TFs
5 = 18 TFs
4 v 14 TFE

Question Number : 120 Question Id : 3228773974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Five students participated in a Quiz Programme. Prithvi ranked higher than Smriti.
Smriti ranked higher than Pranav. Prithvi ranked lower than Alvira. Madhura’s rank is
iPseviedisParessdsiariN Ungia gs the e entadeb alerts only at pharmagang.com

Options:

1 % Prithvi
> « Alvira

=z ® Smriti

4 % Madhura

Question Number : 120 Question Id : 3228773974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o REIREr & e weAcad dEeA J BEar T g, g 8 6Er @
T, SO ¥ AT T A 1 OFA AT ® FH 7| 7, g AR =i
F 919 H | 57 F9H maf=a T 9 T B/

Options:

LQW
o o TR

5 % B

4 B 3

Question Number : 121 Question Id : 3228773975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Two pairs of letters in the word PARCEL have as many letters between them as in the
alphabet. Those word are

Options:
, & CE and E.L

5 o P.Rand A.C
z % PAandR.C
4 % ARandCE

Question Number : 121 Question Id : 3228773975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

PARCEL 2reg & JUIT & &I JAIST & a1 H 39 &r 907 g, o g AT A
s S fl gg A

Options:

, v P, RATA, C



.« P,A3RR,C
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Question Number : 122 Question Id : 3228773976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If 6 spiders make 6 webs in 6 days. then one spider will make one web in how many days?

Options:

, % lday

> ® 3 days
5 o 0days
4 ® 2days

Question Number : 122 Question Id : 3228773976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofe 6 AFEAT 6 AT 6 AT H 7o T &, O Tk Aarsr U A fFhaw f&ar
H a7 =7

Options:

1.$1ﬁ_ﬂﬁ
z" 3 fear A
S.JBﬁﬁ
&% 2 =t &

Question Number : 123 Question Id : 3228773977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A mother is currently twice as old as her daughter. 20 years ago. the age of the mother was
12 times the age of daughter. The present age of the mother in year is

Options:
1 # 22

> « 44
T W 32
4 #® 34

Question Number : 123 Question Id ;: 3228773977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T AT I 3H 3 AT T F AT &1 20 B g AT T 3H FIA T BT
35 ¥ 12 7T off| A & I9A A v g

Options:



1 ® 22

2 Pfetfous papers and Nursing Government Job alerts only at pharmagang.com
z B 32

4 R 34

Question Number : 124 Question Id ;: 3228773978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pick the odd one out:
Options:

1 % London

> o Venice
- % Paris
4 % Madrid

Question Number : 124 Question Id : 3228773978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o 7 & R =4
Options:

| % oA
o v ATE
5w INH
4.%'*;&%3

Question Number : 125 Question Id : 3228773979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the number of rhombus in the following figure.

Options:
1 % 15

o W 16
T W 14



4 ¢ 17
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Tt B & FAagE @ '=T 490

Options:

; = 15
> # 16
z % 14
4@ 17





